
Answer on Question #83568 – Math – Trigonometry 

Question 

 

𝑡𝑎𝑛𝜃 = √15/15 

sin(−𝜃) = −1/4 

What is the value of cos(𝜃)? 
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Answer 

INSTRUCTIONS: 

sin(−𝜃) = −𝑠𝑖𝑛𝜃 

−𝑠𝑖𝑛𝜃 = −
1

4
 

𝑠𝑖𝑛𝜃 = 1/4 

FORMULA: 

𝑠𝑖𝑛2𝜃 + 𝑐𝑜𝑠2𝜃 = 1 

𝑡𝑎𝑛𝜃 =
𝑠𝑖𝑛𝜃

𝑐𝑜𝑠𝜃
 

SOLUTION: 

𝑐𝑜𝑠𝜃 = ±√1 − 𝑠𝑖𝑛2𝜃 



𝑐𝑜𝑠𝜃 = ±√1 − (
1

16
) 

𝑐𝑜𝑠𝜃 = ±
√15

4
 

NOW,         𝑠𝑖𝑛𝜃 = 1/4 ,   if,    𝑐𝑜𝑠𝜃 = −√15/4 , 𝑡𝑎𝑛𝜃 =
𝑠𝑖𝑛𝜃

𝑐𝑜𝑠𝜃
=

1

4

−
√15

4

= −√15/15, which is not 

given in the problem… 

SO,                                                                       𝑐𝑜𝑠𝜃 = √15/4,    

𝑠𝑖𝑛𝜃 = 1/4 

𝑡𝑎𝑛𝜃 =

1
4

√15
4

=
1

√15
=

√15

√15 ∗ √15
=

√15

15
(𝑐𝑟𝑜𝑠𝑠 𝑐ℎ𝑒𝑐𝑘𝑖𝑛𝑔 𝑤𝑖𝑡ℎ 𝑡ℎ𝑒 𝑝𝑟𝑜𝑏𝑙𝑒𝑚) 

SO, our answer is  𝑐𝑜𝑠 𝜃 =
√15

4
 . 

Answer: 𝑐𝑜𝑠 𝜃 =
√15

4
. 
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